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Question Booklet bring il to the notice of the Superintendent/Invigilators immediateiy to obtain a
fresh Question Bocklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without its envelope.

3. A separate Answer Sheet is given. It should not be folded or mutilated. A second Answer Sheef shall
not be provided. Only the Answer Sheet will be evaluated.

4.  Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above,

5. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places,

6. No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. (if any} on
OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet.

7. Any change in the aforesaid entries is to be verified by the invigilalor, otherwise it will be taken as
unfair means.
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record the correct option on the Ansiver Sheet by darkening the uppropriate circle in the correspond ing
row of the Answer Sheet, by ball-pcint pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

9. For each question, darken only one circle on the Answer Sheet. [f you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect,

10. Note that the answer once filled in ink cannot be changed. If you do not wish ie attempt a question,
leave all the circles in the corresponding row biank (such question will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet,

12. Depasit only the OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall until the end of the Test.

14. [facandidate attempts to use any form of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him/her.
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No. of Questions /¥t &t doaT : 150

Time/¥¥4 : 2% Hours/q0¢ L Teell Myleg /QUITeE ; 450

Note :

(1)

(2}

- Attempt as many questions as you can. Each queatiuh carries 3 marks.

One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.
mﬁmﬁauﬁﬁmmmmﬁlmmsaﬁﬂ%im

m‘m--%ﬁqwﬂw-mmlmmﬁmmw
&y o

If more than one altérnative answers seéirt to be approzimate to the
torrect answer, Choose the closest one.

aae

MR o Sl 0 St WA T - S ad

1. According tv Forbes List of Billionairee 2017, the richest Indian billionaire is

(28)

(1) Lakshmi Mittal J) Mukesh Ambani
(3) Azim Premji (%) - Dilip~®hanghvi

1
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2. Which State in India has been the pioneer in labour reforms?
{1} Rajasthan (2) Gujarat
(3) Madhya Pradesh | (4) Uttar Pradesh
e ¥ s gaw F wed § Fe-a woa el @ R

(1) ToRUH (2) T (3) WO (4) I I

3. When was the First Industrial Policy resolution formulated in free India?
T W F g st AR B aw d T w9y
(1) 1947 -(2) 1948 (3) 1949 (4) 1950

4. Who, among the following, had the shortest tenure as Governor of Reserve Bank

of India?
(1) C. Rangarajan (2) Bimal Jalan
3 Y. V. Reddy _ (4) Raghuram Rejan

maammmmﬁ%wﬁsmﬁmmm%?
(1) o TR (2) foma 9™ (3) ardo dlo W@ (4) W TH

How many countries are members of SAARC (South Asian Association for
Regional Cooperation|?

mtaﬁmﬁmﬁwmm)ﬁmﬁww%?
@ 7 B s @) 9

8.

(1) 6

(28)
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6. On which date was the Union Budget for 2017-18 presented in the Parliament?

28)

{1) 1st February, 2017 (2) 2nd February, 2017

(3) 3rd February, 2017 (4) 4th February, 2017
2017-18 ¥ W gHF e Wex § T 0y

(1) 1 =&8, 2017 ! (2) 2 w8, 2017

(3} 3w, 2017 (@) 4 wath, 2017

WTQO (World Trade Organisation) was established in the year
g odtoite (Rrew R Wen) few a8 o it gan?

(1) 1994 © {2) 1995 (3] 1996 (4) 1997

Which onie of the following items was highest as-a pexcentage of GDP in India in
2016-17 in case of Central Government?

(1) Fiscal deficit " {2) Direct tax revenue

{3) Indirect tax revenue {4} Interest-poaysent.

% R & wd F R A rw g ad 2016217 i Hootto & whwm 3
¥ A waifaes e

1) T @ vem e

a — e G -

(P.T.0,)
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9. According to Economic Survey 2016-17, GDP growth rate in India was highest
in the year

(1) 2013-14 (2) 2014-15 (3) 2015-16 (4) 2016-17
RiE ST 2016-17 ¥ TR, WA # Hoglodte g B T Fatluw df T

(1) 2013-14 &  (2) 2014-15 7 (3} 2015-16 #  (4) 2016-17 d

10. Which one of the following is not correctly matched?
(1) Rekhi Committee : Simplification of Export and Import Procedures
{2) Nanjundappa Committee : Railway Fare
(3] Rangarajan Committce : Balance of Payments
(4) Goiporia Committee : Banking Service Improvements

frefafeg # @ FA-a1 gifom T 27
gl;%@a&%:%xﬁ:mnﬁ:ﬂaﬁmm

(2) TR AR 5
(3) TRIH gfife : e 9
(@) Tédfen wffd ; dfbT o IR
11. The Agricultural Census in India is done at an interval of
(1) every y=ar (2) once in three years

(3) once in five years (4) once in ten years

(28)
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wma & FR o R smwe $ W O R
(1} = = - (2) @ ad # o AR
@ da of § wwar 4) 3w o ¥ ws R

For the Financial Year 2017-18, which one of the following as percentage of
GDP is likely to be maximum in case of Central Guvemment?
(1) Revenue deficit (2} Effective revenue deficit

(3} primary deficit (4) Fiseal deficit

el ad 2017La%ﬂméﬁmﬁamﬁﬁmﬁ#ﬁmﬂﬁ%ﬁmn%
ST & w7 F el wt W o 42

(1) T (&) T T 9
(3) i v (4} TorRIT e

On which date, the Union Budget for 2017-18 was presented by Shri Arun
Jaitley in Lok Sabha?

(1) 1 February, 2017 ; () 8 Fﬂbruaj'y,l 2017
(3) 15 February, 2017 (4) 28 PFebruary, 2017

ﬁmﬁﬁﬂﬁwm_mﬁgn1?~1sﬁ%ﬁwmﬁmﬁﬂm%m
™Y '

(1) U w&d, 2017 (2) & vl a0
@) 15 w2017 T%ﬁon
0

PT.0)
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14,

18.

16.

For which income slab, income tax rate has been reduced in the Budget for
2017-187

(1) Between Rs 250 lakh to Rs 50 lakh

(2] Between Rs 50 lakh to Rs 100 lakh

(3) Between Rs 10-0 lakh to Rs 20-0 lakh

(4) Above Rs 20-0 lakh

201T-18 ¥ o § Frw wg @ W AFER H T F9 A M 27
(1) 2:50 ¥rg & 5-0 W@ ¥R F

(2) 50 ¥/@ & 100 9@ ¥ & ¥

(3) 100 W@ ¥ 20:0 W@ ¥4 & €N

(4) 200 @ T ¥ IW

For the Financial Year 2017-18, which onc of the following items .;‘S likelv to be
maximum as percentage share of Central Government’s expenditure?

(1] Interest payments (2) Defence

{3) Subsidies (4) States’ share of taxes

forf ¥ 201?—13%&‘-&,%%%#-ﬂ1mﬁam%m%m%
w7 # waifm w9 f i 37

(1) W9 R (2) wfercat

@3) i (@) = # o= W few

Which one of the following items is not taken into account while computing
current ratio?
(1) Sundry creditors ™ e dabtnrs

(3) Furniture (4) Bank overdraft
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e, oI Ht e o Fefofes w F ® R A fen e 27

(1) Rffw ¥R (2) RRe 3R (3) W [4) F ARG
17. Which one of the following is not an operating expense?

(1) Office expenses . (2). Interest

(3} Selling overheads (4) Postage

Frafefan 4 @ ¥5-w wRawes sug 3@ 27

(1) Fatee =@~ (2) = (3) Tora Fufemm  (4) o/ =9

18. In calculating the return on sharcholders’ equity, @ie denaminator is
(1) equity capital
(2) preference capital
[3} equity capital plus preference capital .
(4) equity capital plus preference eapital plus reserves

P ) gra W gy, ) oo w0 4w a @
{1) W {ah
(2) fmme ot

{Simmvﬂm{ﬂw
(4) ®m AR @ (+) ufﬁtrnttanqq{+

19. Nct worth of the buamcas mr:ans
(1) equity caplmf
(2} total assets.
(3) total assets minus total liabilities

(4) fixed assets minus CUrTent Wwesg

(a8 . 7
P.T.0)
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20.

Z1.

22.

MR g Wiera & o R

(1) w s (2) o wwt

(3) P TR — Pper qrid (4) wurht @y ~ 9w w
‘Higher the ratio, lower the profitability’ is applicable to

(1) gross profit ratio {2} net profit ratio

{3} operating ratio (4) return on investment
I ST, e g

(1) TFA AR AT W (2) Y& ¥ 39T W

(3) TR P W (4) FoFEm w =@ w®

Given—Nominal valuc_n? share 133 10, No. of shares issued 10000, Total net
profit Rs 20,000 and Dividend paid 10%. What is Earnings Per Share (EPS] 7

{1) Re 1 (2) Rs 2 (3) Rs 3 (4) Nil

Rar 3—aiq & AW [ 10 %o, Wi R w3 s A @ 10000, T Y&
@ 20,000 %o, A T @YW 10%. R @ e (Fodtowmo) F 7

(1) 1 %o (2) 2 %o (3) 3 %o (4) 4

Dividing net sales by average debtors would yield

(1) acid test ratio (2} return on sales ratio
(3) operating ratio : {4) debtors turnover ratio
g f 1 oEd TR R foris A T W 8N
mqﬁl‘gﬂﬁw (2) foshe W yEm I
(3) whEeH S (4) TR WG ST

8
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23. The schedule of changes in working capital is prepared with the help of

(28)

(1) current assets

(2) current linbilities

(3) current assets and current liabilities

(4} non-current assets and non-current ltabilities
mﬁa{ﬁﬁvﬂaﬁwmmﬂ.’rm&mm??
(1) ] et @

{2) = IRt R

@) I st 7 ey i 2

(4) N-arey Wi -1 gl @

The flow of fund is said to have taken place when
(1) cash is paid to creditors

(2) cash is received from -debtors

{3) machinery is purchased for cash

(4) in all of the above cases

W F S g AW W W R 9

(1) oFR = ﬂm; N YT ﬁﬂn LI

@) FR S TR

(3) Twg dm i w7 Aoy oy

{4) . ot B

(.T.0,)
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25-

26.

27.

(28)

Which one of the following is not an application of fund?

(1) Kepayment of loan

(2) Acguiring an asset in lieu of equity shares

(3} Redemption of preference shares

{4} Payment of dividend

i § & #w ® ® IEm @ 7

(1) T F= EiTER (2) Tl 3E F W IR W OFS

(3) tfeerr siwf w1 ferit= (4} wITE W A

Which one of the following is not added to the net profit for f_:omputing the
amount of funds from operations?

(1) Depreciation on machinery (2) Profit on the sale of plant
{3) CGoodwill written off (4} Loss on the sale of furniture

mﬁmﬁﬂﬁrﬁmﬁlmﬁﬁmﬁfﬁaﬁﬁﬁ%ﬁqﬁaﬁmmﬁﬁ
Ay w37

(1) 3l W o (2) iz i fasht | @™
(3) Tae & T @k @) wfie i fh @ @

When total sources of funds are more than the total applications of funds, the
net effect is

(1) increase in working capital (2) decrease in working capital
(3) increase in total assets (4) decrease in total assets

10



28.

29!

(28)

17U/101/24 Set No. 1

T B F P G, B F g sw@m A aivw , D W gz we A
(1) =i s & gfy (2) sz {5t # wh
(3) Fo W # gy (4) F vofy § wh

Which one of the following is not a Cash Inflow?

(1) Purchase of fixed assets  (2) Sale of goods

(3) Issue of debentures . . (4) Sale of fixed asscts
Frafies 3 @ P Ay sty 7@ 27

(1) wrft menfe & w | (@) et i ff

(3) =onEt & P {41mawﬁraﬁtﬁaﬁ

-

Given—Total sales Rs 5,00,000, Credlt sales Rs 2 25 000, Total purchases
Rs 2,48,000, Credit purchases Rs 1,08 000 and Cash o c])eratlng expenses
RS qn DDU Cﬂ:sh M Mﬁﬁg m& ¥ TTATNEY s W |

(1) Rs 1,90,000 (2) Rs 1,30,000 (3) Rs 95,000 (4) Rs 81,000

fen &= ReFa 5,00,000 %o, s R 2,25,000 %o, T T 2,48.000 %o

mm:,ﬂ&mﬁwmmﬂmmMNm%mﬂﬁm
YaE &

(1) 1,90,000 %o (2] 1,30,000 3o {3) 95,000 %o (4) 81,000 %o

Which one of the following is an examgle of noi-Cash expenses?

i1) Dl:prﬂciiﬁﬂﬂﬂ (2] Wages-and. seleries

(3) Telephone expenses T *~4dmigjgtrative expenseg
11

P10,
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31.

32.

33.

(28)

(3) TeieR =Y (4) WTERS wd

Which of the following curves is not U-shaped?

{1} Average fixed cost curve (2} Average variable cost curve
{3) Average total cost curve (4) Marginal cost curve

= § & EN-T T U-SER W A T

(1) e R o (2) fwa diedTE I
(3) F&d T AT G (4) ¥ TR

Which one of the following is the most effective instrument of controlling black
money in an economy?

(1) Demonetisation (2) Depreciation of currency

(3) Devaluation of currency (4) Deflation

(1) Tz (2) @ § Frae
(3) F& I (4) FEERi

1f we exclude product taxes and subsidies, we arrive at

(1) gross value added
(2) gross domestic product

(3) met domestic product

(4) net domestic product at factor COst

12
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qi} ¥ I gl T Al W wer 3, @ w6 WIH o 2

(1) o5 o0 g (2) W TR IME

(3) T§ W] 3w (4) T Al W YE W, I
34. Which one of the following is not a component of Bharat Nirman?

{1} Rural housing (2) Rural electricity

(3) Agriculture hased industries (4) Rural telephones services

a7} P-a wre Pmfr =1 s a8 27

(1) Tmdr ST (2) Trftor Rrgfaerm

3) Ff swere seT (4) rfor gEER

35. RTGS stands for
(1) Real Time Gross Settlement
(2} Regional Teller Google Settlement
(3] Real Teller Google Settlement
{4) Rapid Time Gross Settlement
ARodtosfiotmo B arewd #

(1) T T mfq e 2) fiveet ¥ e Atz
(3) fuw I T AR (4) e Tgn ufe AR
36. Reserve Bank of India issues notes under which system?
(1] Maximum Reserve Syetesa.. (2} Minirsum Reserve System
(3) Fixed Reserve System 9-Frsearignal Reserve gygten,
128) 13

(P.T.0)
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it fod o frr wglh F oo A il s R7
(1) stftrran iy TgiR (2) =AW * ygf
(3) P = wg (4) g A Te

87. Ordinal measurement of utlity is required in
(1) Utility Analysis : (2) Indifference Curve Analysis
(3) Revealed Preference Analysis (4} Demand Curve Analysis
IR & F0 dEN AEHeH F SEER ¢

(1) AT fawctur 4§ (2) woy 9% Fwewm §
ISJJMaTﬁmnﬁaﬁwﬁ (4) in T e

38. Price consumption curve of a normal commodity is

(1) horizontal (2) vertical

(3) negatively sloping (4) positively sloping
T W R R I9e @ e R

(1) af (2) FEAHR

(3) HOMHT TIE ATl {4) TS @I STl

39. Which form of monopoly regulation is most advantageous for the consumer?
(1} Price control (2) Lump-sum tax

(3] Per unit tax (4) Both (2) and (3)

14
(28)
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e yon o1 wftEr g i & R gaife dneEs 20
(1) AFg AT (2) E W (3) IR =g W (4) (2) T (3) A

40. The slope of consumption functiofi is known as-
(1) aggregate consumption
(2) marginal propensity to consume
(3} average propensity to consume

(4} None of the above
G FEH F I@ F FI IR

(1) S I (2) ¥ gud wgfr

(3) i Judm wafy ) TR § ¥ 9 7@
41. The Classical Theory of Employment and Income assimes

(1} full employment 2) underemp]oymtnt

(3] disguised unemployment ~ {4) overfuil cmp]ayment.

e ve I W vifkfew Rrgre Y oomon &

(1} o TR (2) ¥ Jemm

(3) Tod IR 4) T m } 3w I

42. The bank rate means the rate which the
(1) Commercial Banks pay on savings deposits.

(2) Commercial Banks pay on current account deposits

(3) Commercial BaTHS AR o short-term loaty§™
(4) Central Bank charges-in rediscounting bills of exchange

(28) " 15
(PT.0,)
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44,

(28)

FTaamadmats

(1) TPeT ¥% S99 99 W 3d 3

(2) T ¥ A @ I W AW E

(3) =fee &% IR W W TR

(@) ¥ ¥ R fEl F T ® TG0 3

The heart of Keynesian multiplier is

9 F 0 F 5T B
(1) APC (2) APS (3) .MPC

High powered or reserve money in India includes
(1) currency with the public

()] cash reserves of hanks

(3} other deposits and bankers’ deposits with RBI
(&) All of the above

3= gy wits w1 fed g F AR ?

(1} 1 % T FT

(2) ¥#t & o fod

) frd &% ¥ 8 R WH @ F R T

(4) IR o

(4) MPS

If rcgardlﬂSS of changes in its price, the quantity demanded of a good remains

unchanged, then the demand curve will be
(1) horizontal (2) vertical
(3) positively sloped

16

(4) negatively sloped
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SRR S P SR T — g ————
® TG # A7 9% @m

(1) @ | (2) o

(3) T B RN (4) ®ES T A

Technique used by codes to convert an analog signal into a digital bit siream is
known as

(1) pulse code modulation (2) pulse steatchar

(3} query processing (4} queue management

we Reoe f Rfew fie D § s ¥ e B o owim e wn
TS A FE W@ 2

(1) " #E Wgdom C (@) v Rw

(3) &0 WdfRm 4) § Bz

An optical input device that interprets pcnm] mérks on paper media is
(1) magnetic tape . (2} punch card reader

{3} optical scanners (4] OMR

S T R S wv wew v iR g R s )

(1) MR® 29 Q) W et (3) BT B ) MoWRoaTwo
Most important advatitage of an IC is its -

(1} easy replacement in case of circuit failure

(2) extremely high reliability

(3} reduced cost

{4} low power consuge
17

P.T.0)
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49.

50.

ol.

28)

W@ HoHlo F HHH HEEYI M } TWH
(1) Gfihe b it foufa o smam wieva

(2) Ftus 3= vt

(3) *n far gam @

(4) = oRs Iasim
Data division is the third division of a piogram.
(1} COBOL {2} BASIC (3] PASCAL (4) FORTH

— I sitee fvem = qein fem R

(1) COBOL %1 {2) BASIC # (3} PASCAL ¥  (4) FORTH

Which language was devised by Dr. Seymour Aubrey Papert?

ofo AR e I F g B wmw R m e omn me
(1) APL (2) COBOL (3) LOGO (4) FORTRAN

A program that converts computer data into some code system other than the
normal one is known as

(1) Encoder (2) Simulation (3) Emulator (4) Coding

FO € F AR W % SRR $9 g T A Waied Fol T SwE
L

(1) THHER @) TegE (3 sﬁ[@ﬁ (4} =ifEn

18
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A device designed to read information encoded into a small plastic card is
(1) Magnetic tape (2) badge reader

(3) tape puncher ; (4) card puncher

R R F F qag gumed W vgd ¥y sbRe w2

(1) e 3y (2) 3= Im (3) 29 =X (4} T T

A h}?bﬁd.cﬂmputer uses a
analog signals.

(1) modifster  (2) demodulator (3). modem . {4] decoder
ﬁhﬁﬁﬁaﬁm%wmﬁﬂmm&hmﬁgwm

to convert digital signals from a computer into

- g

() P o R W () WA, 4) Beww

A group of magnetic tapes, videos or terminals usually under the control of one
master is

(1} eylinder (2) cluster (3} surface (4) track
SR W G R F PRty i o, RN o ot g 4
(1) fafenst @) R @ (4) I

A device that performs. signal conversion is

(1} modulator  (2) modem " (3) keyboard (4] piotter
e o ® #E FQ T @ a2

1) depE "‘;T:‘""?é“ h 3 e 1) Wi

19
(P.T.0,)
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36.

57.

58.

59.

(28]

Codes consisting of light and dark marks which may be optically read is known
as

({1} mnemonics (2} bar code (3) decoder (4) All of the above
sﬁiaﬂtﬂﬁﬁﬁaﬁﬁﬁmmﬁmﬂmmﬁ,ﬁmm%
(1) b (2) S HE (3) e (4) I90F a0

A type of channel used to connect a central processor and peripherals which
uses multiplying is known as

(1) modem (2) network (3) multiplexer {4} All of the abave

W YR F S0 a0 S TRE AN IR et & forg fEr sm
3 oy S neftETEn W TN T 2, W) el 9w 8

(1) M3H (2) YT (3) TEdHATET i4) I |l

The first generation of computers available was based on the bit
MiCroprocessors

wmmmﬁﬁmﬂam—mmm\
(1) 4 (2) 8 (3) 16 (4) 64

The complete picture of data stored in database is known as

(1) record (2) schema
(3) sysiem flowchart (4) DBMS
m'ﬁWW*WWﬁWW%

(1) &S (2) whBO (3) fren W= (4) DBMS
| 20
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60. Which one of the following is intended to be used in all applications runs on

61.

28}

mamirame computers?
T TR R I A wft vt § Aefel § 3 R swi anfi 27
(1) LOGO (2) APL {3) PL/1 (4) OCCAM

4 5 Q
+

The value of x that satisfies the equation =— g
xX-3 x-5 x-13

4 5 9
xmw{;ﬂsﬁmﬂm-x‘f.x_ﬁzx*lsa%mm%

(N1 (2) 3 (3) 2 4) 4
ifa2=h+c,bz=c+a+c-.2=a+b,then ﬂ1éva.'lﬂe 0f—1—+—l—+—Li$equal
o5 a+l b+l c+1

1 1 1

2. 2 _ 2 a9
W a?=bigbl=c+a,c?=a+bh _ a*1+b+1+¢+1$f11armﬁm
(1) 5 (2) 1 @7 (4) 3

A businessman gives commission to his agent 4% up to sale of Rs 1,00,000 and
9%% above it. If businéssman has givert Rs 5,925 as commiission to his agent,
then find the sale made by agent

() Rs 1,35,000 (2) Rs 13,500  (3) Rs 1,50,000 (4) Rs 140,000

w S o ot & L0000 50 BT R 10w i o o0

it o & 3R e 3 gm gt #5925 % T R, 3 st
R ™ R TR g B | o

(1) 1,35,000 o (2) 13,500 ¥ ~. (3} 150,000 %o
2

HJ 1 A0 -UUU o

(P.T.0)
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65,

66.

67.

(28)

A work can be completed by 30 men in 10 days, then in how many days work
can be completed by 40 men?

@ FF 30 ahEt gw 10 fF § U W fr s @, @ AN B 40
srehet g fem R A wd qu o fern swY

(1) 7-00 (2) 725 (3} 7-75 {4) 7-50

The perimeter of a triangle is 100 cm and its sides are in the ratio1:2:3, The
area of the triangle (in cm?) is

'@Hﬁﬁaﬁwﬁﬁx1uncm%aﬂtmﬁgﬁﬁ1:z:3#mﬁ%1ﬁﬁﬁw
A% (3 HoHlo H) B

(1) 100J3 (2) 100415 (3) 100v5 (4) 10047

If the ratio of the volumes of two spheres is 1; 8, then the ratio of there surface
area 18

TR 3 e ¥ ofmmit @ U 1:8 §, @9 3 WaE W AU R

] 112 (2) 1:16 (3) 1:8 4) 1:4

A man saves Rs 320 during the first month, Rs 360 in the second rf-mnth,
Rs 400 in the third month. If he continues his savings in this sequence, in how
many months will he save Rs 20,0007

w e v € Bl d 320 v M ¥, fefw TR A 360 %, T
w # 400 %ol R F& SFN T R T W A I www R, @ R A

20,000 %o FEEm?

1) 28 (2) 25 (31 22 (4) 20

22
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The average age of a group of 10 students is 15 years. When 5 more students
joined the group, the average age rose by 1 year. The average age (in years) of
the new students is

(1) 18 years (2) 17 years (3) 16 years (4) 12 years
10 o6 F uF gy 6 ofwg oy 15 of dewm ggg € 5 o o wffm @
o 7, 91 T oy v 9 o 9y Wl ¥ A oEl f ofteg g (ad F) R

(1y 18 f (2 17 d (3) 16 = 4 12 =¢

A train passes by a stationary man standing on the platform in 7 seconds and

passes by the platform completely in 28 seconds. If the length of the platform is
330 metres, what is the length of the train?

@ 7 weeW W fOR @R agft & f 7 dwe d et R ek 28 dws A
o Sewm § g oRdt #1 Al Sewdl A T 330 Wew &, W IW ® aan

w1 #7
() 118 m (2) 110 m (3 120 m @) 100 m

Find the compound interest on RS 10,0004or Sweas if the rate of interest is 4%
for the first year, 5% for the second year and 6% for the third year

(1) Rs 1,5652 (2) Rs 1,3752 13y Rs- L,'JEI&Z___ (4) Rs 14652

(3) 1,57%2 %o 4) 1,4652 %o

The marked price of a radic is Rs 480, k .
and gains 8%. If Ho-eevoug) jo a]],:,w%haf‘ o ceper allows a discount of 10%

- i i : §8n ‘percent
IS 3 IqMhd |FT 480 To B ~1006 I AT
R T 7 O T, s v i | 8% T
(1} 20 W T BWTNR o
23
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73.

74,

75.

76,

(28)

The mean of first 8 natural numbers is
TN 8 WiplaE weaiail w1 mes
(1) 5 (2) 45 (3) 4 4 55

A work can be completed by 12 men in 10 days working 8 hours daily. Find in
how many days work-will be completed by 20 meti working 6 hours daily

Qﬂim#mmmﬁqfiaﬁwﬁlﬁﬂmﬁﬁ%m_mmﬁiﬁhm
HiFa i 20 W 6 uv? yiifes w5 e fodl & o1 @@ = &

(1) @ (2) 8 3 7 @4 6
arz
The simplest form of [3{3—;] 1S
- 3/2
lzﬂ T FE WY 3}
4 3 16 81
= - 3] — 4y ==
3 @ 3 ¥ &1 %

A fruit seller purchased 12 apples for Rs 100 and sold 10 apples for Rs 100. I,
he earned Rs 100, then find numbers of apple he purchased and sold

@ w9 o 12 ¥ 100 % & %4 fr @ 10 ¥ 100 %o # frm fon AR
mﬁﬁmloﬂﬁam%,ﬁmaﬁﬁiﬁim%ﬂﬁﬁammﬁmm

(1) 60 (2) 50 @3) 40 (@) 30
The goodwill prought in by new partner is withdrawn by old partners in their
(1) new profit gharing ratio (2) old prefit sharing ratio

{4) cqually

(3) capital ra (o
24
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R Wi g e g el g W g R a2

(1) T oW e & (2) T o oTuE #

(3) {sh % oo & (4) SR~

In which of the following would an adjusting entry for depreciation be made?
(1) Cash Book  (2) Journal (3) Sales Book  (4) Purchase Book
ﬁn%f&aﬁﬂﬁw—mmmﬁmm%ﬁmﬁmw%?

) W @ () FHa @) Res @ (4) %7 @m
Receipts and Payments Account is :

{1} Real Account . (2) Perscnal Account

{3) Nominal Account (4} None of these

Wit U e e & '

(1) awaies war  (2) | o ialarﬁrﬁﬂéwr 4) 7 ¥ 3 o

Which one of the following is correct?

(1) Opening capital = Closing capital + AddHtforial capitai ~ Drawings — Profit

(2} Opening capital = Cloging capital + Drawings - Additional capital - Loss

(3) Opening capital = Closing capital + Drawmgs Additionar capital — Profit

(4) Opening capital = Closing capital ~ Drawings — Additiona] capital - Profit

fafofen & § S-m @ 2

(1) sminws st = Rm 4 + aftfe o — ST ~ B

(2) RIS o = HfRr-Poly + oy — ﬂﬁ'fﬁm{nﬁ- - f}

(3) v {9t = s il 4 e il — o

(4) i {oht = s O — SR - mw &
25

(P.T.0)
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80.

81.

82.

(28)

Goods valued Rs 3,600 lost by fire. The insurance company admitted a claim for
Rs 2,000. What amount will be shown in Trading Account?

(1) Rs 1,600 (2} Rs 2,000 (3} Rs 3,600 (4) No amount

3,600 $o T F WW AT R T W T WY 4 FH T 2,000 T F A
wEn T smn dar § feeh oft e Ay

(1) 1,600 %o (2) 2,000 %o (3) 3,600 %o (4) =3 T T
Provision for depreciation on fixed asset made in the Profit & Loss Account of
the accounting year will be deducted in the Balance Sheet from

(1} the book value of the asset concerned

{2) Wi markel value of the asscl concerned

(3) the original value of the asset concerned

(4) the inflated price of the asset concerned

et TR T SRR F aw @ % ani-wf owr ° R S R g
T S

(1) Feafee ufEets % 98 059 8

() Wy TiEe F aeR e ®

(3) R abeat % IR A E

(4) T vfmmfy & whifda 1o @

A B and C are partners sharing profits and losses in the ratic of 2:2:1. C
rf:,tf res. The new profits and losses sharing ratio between A and B will be

ABM;W%@W—@WWZ:Q:I%Wﬁ&?{ﬁ%rcm
u%mm%maﬂrsa;aﬁawm—ﬁﬁﬂwawm

(1) 1:1 (2) 2:1 (3) 3:2 (4) 5:3

26
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83. Profit on cancellation -of own debentures should be transferred to

84.

88.

(Z8)

(I} Profit & Loss Account
(2) Profit & Loss Appropriation Account
(3) Capital Reserve Account

(4) Reserve Capital Account

o T & [Atedimr o @ W R B AT

(1) sm-wl-@mEr (2) sm-gif Feee @
(3) oMt W= 4) =1 I& @

Profits prior to the incorporation are an example of

(1) Capital Reserve (2) Secret Reserve
(3} Revenue Reserve (4) Statutory Reserve
e R} ¥ A o s f

(1) gt Fmw @ Wi H_

(3) FITW g T (4) durw weg

Premium received on issue of shares can be used for

(1) payment of dividend - (2) wittihg Wpﬁmﬂiﬂmy eJIpenégs
(3) payment of ditoctormdosn {4} redemption of df-benmrﬁs
am & fiiw W e el =1 3 foo gy ¢
(1) @M iR & R D Sy & foe
mm,ﬁq%m%m [ﬂmﬁjﬂim%m

27
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86. The credit purchases of fixed assets are recorded in

(1) Purchascs Bouk (2) Cash Book

(3] Journal Proper (4] Sales Return Book

for wty = sun Ha shrifed e o 2

(1) 7 (2) kg T (3) e WR (4) Tt et =l

87. The Statement of Affairs is prepared under Single Entry System
(1) to ascertain the capital on any date
(2) to ascertain total value of various assets
[3) to ascertain the amount of various liabilities
(4] to ascertain the financial position of the business
el yRf TgR § Rl o fam fen s @
(1) fed ol w ot o & form
() Ffi iamf 1 H g9 T & fo
{3]ﬁﬂﬁﬁ'ﬂm3ﬁﬁ@ﬂﬁlﬁm%ﬁﬂ
(4) S R frefly fErfa st & o

88, Incaseofa firm's dissolution, the balance of Realisation Account is transferred
‘ to Partners’ Capital Accounts |
{1 in Cﬂ.pitﬁ-]l ratio [:2] equally
(3) in profit sharing ralio ) in partners’ loan ratio

28
(28)
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ﬁ%ﬁmﬁﬁrﬁﬁ.mﬁﬂmmﬁﬁ%{ﬁﬁ@ﬁmﬁm

T 2
(1) s argurer & (2) &T=R-aIR
(3) AN fFRA oI # IﬂW%m%mﬁ

89. By forfeiture of shares is meant

(1} cancellation of shares
(2) seizure of shares
{3) imposition of fine for late payment
(4) underwriting of sharey -
3T W W B A R
(1) ¥ 1 e
| (2) vt ® s wow
(3) o= @ TR T W T W YEER
(4) s &1 ARriy

90. Which Account has a credit balance?

(1) Carriage Inward {2} Carriage Qutward
(3) Return Inward | (4) Return Outward

ﬁmﬁdaﬂmlﬁiﬁm%?“

(1) 3=% M w= | | @) Sl W
(3) Frery anet - (4) #9 3mm
(28) | 29

(P.T.0)
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91. Which one of the following is not a form of business organisation?

{1) Sole Proprietorship | (2) Partnership

(3) Charitable Trust (4) Joint-stock Company

fiefoian ¥ F% TER G # @ I A R

(1) e =R (2) dEd (3) wd TR (4) IH T T

92. The Indian Partnership Act was came into force from the year

wity g sfifem fre @ |/ swEie g o7
(1) 1932 (2) 1940 (3) 1948 (4) 1956

93. Social responsibility improves
{1) public image of business {2) product quality
(3) managerial efficiency (4) managerial control
AR i 8 JERdD @
(1) e F TS (2) e I O
(3) SRR 2 () vaRhe fram

94. Which one of the following is related to both sole trading and partrership?
(1) Direct motivation (2) Unlimited Lability
(3) Mutual agency (4) Fuil control

28) 30
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ﬁmﬁﬁaﬁﬁaﬂa—mmﬁw@w;&ﬁﬁwﬁm%?

(1) Teay syfsorn (2) i T
(3) TR afmm {4) qof feEm
In company, risk i‘s borne by
(1) Directors (2) Shareholders
(3} Creditors of Company {4) Managing Director
Tt F atfw s aer @R §
(1) oo (2) vl (3) ¥t & WRR 4) TEH TUEE
Restricting the, transfer of shares is a feature of - 1
(1) Public Company (2) Sibsitiary Company
(3} Holding Company ; (4) Private Company
I TR W Yy w e 3
(1) oeefi® w5 (3) TETTE e
(3) T TR {9) B wott
Pracedure for transfer :!f SFI_BI&S in contained in
(1) Articies of Association (2) Memorandurh of Association
(3) Prospectus ) Btatement in lieu of Prospectus
W F weieer i webEmmd
(1) R s & (2) e ety
fwwr & (4 T '
) i 3 § R Py g

P.T.0,)
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98.

100.

101.

(28)

Direct motivation is related to |

(1) sole trading (2) partnership

13} public company (4) hoiding company
wow s gt

|1) e Smm g (2) R B

(3) TS B (@) gl F @

Registration of Cooperative Society is

(1} compulsory  (2) optional (3) essential (4] unnecessary
- TEIl aie F1 ol

(1) sibEd 2 (2) Fie 2 (3) FUETH R (4) IEEF B

Diesel Locomotive Works (DLW) is an example of

(1) Public Company (2) Public Corporation

(3) Departmental Undertaling (4) Government Company
S iR 3 (SotHogaro) T TR B

(1) FEHE T (2) @ M &

(3) Rpanfia JH (4) R FEET &

gill of Lading is issued by

prier (2) importer
(1} exp | t
(3) shipping company 4) exporter's agen

32
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(1) Fafes g - (2} SrmEE g
(3) el Fet g (4) Fafes & st g
Which one of the following is an auxiliary export document?
(1) Commercial Invoice (2) Bill of Exchange
(3) Certificate of Inspection (4) Proforma Invoice
e § § S-m veww Bafe v 40
(1) IR o (2) ffma fir
(3) Frfteror v oo (4) ITaRY e
Special Economic Zone has been created to
(1) encourage export (2) encourage import
(3} encourage free trade (4) encuurége domestic trade
Ry anffes @ w1 g foear o &
(1) faia seames % fog (2) s T ¥ R
{3) 9% =R % S & R (4) 3 =R F MR ¥ R
General principle of insurance inclydes
(1) utmost good faith 2} insurable inteJ;cst
(3) contribution ~44)_All of thie above
o3

(P.T.0)
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oM F A Rigra § ufotea B
(1) 7% ggEeEE (2 o AR (3) AIEE (4) ST wft

105. DPartner and firm are mutually related to

(1) management (2) servant

(3) agent (4) shareholder

Aeer ol o O e B @

(V) We (2) BaF H (3) WA= I (&) sl H

106. Which one of the following 1s a part of controlling process?

(1) Setting standards (2) Searching alternatives
(3} Awareness of problems (4) Division of work

iy & & F-a P ke @ e R

(1) HFF T (2) faed B o /@
(3) wremisl ¥ IO B (4) T R

107. Which one of the following is related to both planning and control?

(1) Example (2) Observation

(3) Budget (4) Audit

ﬁqﬁ{f@aﬁﬂﬁqﬁﬁmﬁéﬁdwaﬁﬁmﬁm%?

(1) TE (2) FEw (3) w=E (4) TFEm
34
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108. [n how many parts Fayol’s administrative functions are divided?

Wl 3 TR wT  fe it e R
(1) 4 @ 5 @ 7 @ 3

109. The term ‘Mental Revolution’ was coined by

(1) Herzberg (2) Henri Fayol (3} Maslow {4) F. W. Taylor
T wf f aEuwn & wh

(1) sl grr (2) ¥ S g

(3) &= gr (4) o Toqe AW g

110. Which one of the following is not an element of planning?

(1} Principle (2) Objective (3) Policy (4] Strategy
83 o Palow o1 & o 7 &7
(1) Rgra . (2) S (3) AR (4) Wity

111. A plan when expressed in quantitative term is known as

(1) process (@) objective {3) peliay {4) budget

@ﬁwaﬁvﬂmﬂmﬂﬂﬁmﬁm?@&ﬁﬂmw%

(1) SR 2) S (3) (4) T
(28) 3o

P.T.0)
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112. Father of Management by Objectives is

(1) Henri Fayol (2} F. W. Taylor
{3) G. R. Terry (4) Peter Drucker
T o wE & T @

(1) &8 ww (2} o geo Tl
(3y Sfo 3o (4) X g

113. Which is the highest form of Democratic Organisation?

{1) Line Organisation {2) Line and Staff Organisation
{3) Culuiitice Oiganisution (4) Punctional Organisation
F7 R R wiwaiaE w1 87

(1) Y@ HeA _ (2) Yo w Pl we

(3) winfa w (4) ToraroT® wTed

114. Measuring actual performance with the planned performance is the
subject-matter of

(1) policies (2) organisation
(3) control {4) span of management
arrs & T TR F R A e
(1) i = (2) WA H |
@) P & (4) vord & e

36
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Delegation of authority means

(1) transfer of authority enly

(2) transfer of responsibility oniy

(3) transfer of authority and responsibility both

{4) transfer of authority, responsibility and accountability
IR Fwwr § g R

(1) ¥=a ARHR F 377

(2) ¥R IR W Ry .

3) SRR & e B W s

(4) AR, IOETE @ TR F IR

Which one of the following is not related with Job Analysis? -
(1) Interview Method (2) Point Method

[3) Qucsﬁumwj;c Method (4} Observation Method
P § & 3 o R @ wafus 7@ 27

(1) marem RAfr (2) A AR (3 wenaeh R (4) amesn RR

The method applied to knew the need for ATRiming is.

(1) job evaluation (2) performance appraisal

(3) SWOT analysis (4} personnel review

RO AT H T R R Ry Y

() o g @) P G (3) e ) it ey
o 37
(PT.0)
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118. Who propounded the X and Y theory of motivation?

(1) Vroom (2} McGregor (3) Urwick (4) Maslow
afon & x o v frgr w1 wiaea few e an?
(1) 3q (2) HFm (3) & (4) et

119. Breakeven analysis is a technique related with

(1} planning (2) staffing (3) motivation (4} control

wofi=de favdwn ads i #
(1) frarem & (2) @ifen | (3} wfpon A (4) P &

120. Highly democratic motivational theory is

(1) hygiene (2) participative (3] X | @) Y
s & Rigm @ o diEitE 2
{1) = (2) it (3) X @ ¥

121. Which of the following is not a part of Financial Market?

(1) Capital Market (2) Commodity Market

(3) Money Market (4] Secondary Market

e A @ Rl a0

@) fb W (@) IR (@) IR A (4) facfrrs A

28) 38
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122. Which of the following is not a speculators in the stock exchange?

(1) Broker (2} Bull (3) Bear {4) Stag
Freafefen # 2 a7 g e & g T 7
(1) geme (2 W (3} W (4) ®n

123. Money Market deals with

(1} long-term funds (%) medium-term funds
(3) short-term funds (4) Gavemmenf funds
T3 T frek wwr dier = §7

(1) ddmwe Py (2) e faf

(3) R Fify (4) Tt Py

124. The maximum period of maturity of capital market instrument is

(1) no limit (2) 3 years (3] 364 days 4 29 yoars
S s s & ofawn B sl ol 2
HeEdmd (2 3 (3) 364 A @ 20 f
125. Out of the following, which gne is not a capital market instrumenty
(1} Equity shares (2} Preference shares
(3) Bill of Exchange f4) Defenture
(28) . 30

P.TO)
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126.

127.

128.

129,

(28)

frafifea § 4 29 (& aem e T8 27
(1) &M 3 (2) sfmm o (3) fabma B HJWP

The public subscription should be kept open for minimum of

(1) 3days - (2) 10 days (3) 15 days " (4) 30 days
A% e ® FH--a e R ¥ R gen @ =R
(1] 3 fF (2) 10 R (3) 15 f&a (4) 30 R

In which year National Stock Exchange (NSE) was started?
fre ad xF@ wiw @aas (NSE) W g @t

(1) 1990 (2) 1991 (3) 1992 (4} 1993

Sub-brokers are appointed by

(1) brokers (2) stock exchange
(3} clients (4) companics

Fa-ste i frgfe feed g g &7

(1) FH (2} W faulr  (3) TR (4) FFH!

Which one of the following is not an institutional investor?
(1) Foreign Individual Investors (2) Mutual Funds

(3) Insurance Companies (4} Foreign Financial Institutions

40
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i & ¥ M= wearw Biwe @ 27

(1} ﬁm Feft P (2) I w0g

(3) e (4) e fofer e
Stock Exchange is a

(1) -State subject (2) Central subject
(3) Regional subject (4) Corporate subject
& faufr @ @

(1) =1 fsa (2) Ha famy

(3) & R C(4) Prm e R
By whom the Chairman of SEBI appointcd?

(1) Stock Exchanpes {2) Reserve Bank of Indig
(3) Central Government (4) Mutual Funds
W ¥ wem H P B Bt 27

1) % faufiy (2) ety TS

8) ¥ FFR (4) g v

The National Securities Depository Litttted NSDLT yyg established
e Rl fdifet ffeE (NSDLY #r vt fie o W
(1) 1986 2 1995 (3) 1999 (4) 2002

inthEyEar

41
P.T.0}
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133. Where is the recognised Stock Exchange located in Uttar Pradesh (UP] ?
(1) Lucknow (2) Kanpur (3) Agra (4) Ghaziabad
mﬁmﬁnmmmﬁﬁﬁ?@ﬁ%?

(1) T&s (2) FHAR (3 s @) RUERICI

134. New Issue Market is an integral part of

(1} Stock Exchange (2) Capital Market
(3) Both (1) and (2) (4) Money Market
i frim aem o o R

(1) == Fufit = (2) sit Ao S
@ (1) @ (2) ¥ (4) g1 SR F

135. SEBlis a

(1) Regulatory Authority (2) Statutory Authority

(3) Both {1) and (2 (4} Group Authority
@ 2
(1) Foames SRR (2) dfiw wimw
@ (1) @ @ it (@) WIg R

42
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136. Reverse Repo is a tool used by RBI to

137.

(28)

(1) regulate liquidity ratio

(2) absorb liquidity

(3) increase the liquidity with banking systein

(4} keep the liquidity at onme level

RBI ftod 10 9% o & v —— ¥ R w3

(1) T e @) v (3d) Frewer
(3) ¥ s § Tl wwR (4) ) B & W ® @

What is Repo Rate? -
{1} tis the rate at which RBI sell Government securities to banks

{2) It is the rate at which RBI lends short-term moncy to the banks againat

(3) It is the rate at which RBI allows small loans in the market

(4) 1t is the rate which is offered by ‘banks to their .mdst

valued Customers
o A7

@) wa-asﬂﬁimmmmaw |

@ ﬁﬂ@lwwﬁmw'mﬁmﬁmma

43
(P.T.0)
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138. When demonetization happened in India in 2016 7?
(1} 8 September, 2016 (2) 8 October, 2016
(3) 8 November, 2016 (4) 8 December, 2016
2016 W wra ¥ Tqdaw w8 gA7 | |
(1) 8 frmr, 2016 (2) 8 ¥HRH, 2016

(3} 8 =R, 2016 (4) 8 femran, 2016

139. How many banks were nationalised in the second phase in 19807

1og0 1 frfrn Tm # fedd o &1 UEERO g3 WY

(1) 5 2 6 3) 7 4) 8

140. In which of the following fund transfer mechanisms, can funds be moved from

one bank to another and where the transaction is settled 1
being bunched with any other transaction?

nstantly without

ﬁﬁlm'@ﬁﬂ%ﬁﬂﬁﬁmmﬁﬁﬁﬁqmﬁa@ﬁaﬂﬁa@m
M%ﬁmﬂﬁ@@mﬁﬁmmmﬁmmm&mm

27

(1) RTGS (2) NEFT (3) TT (4 EFT

141. ‘Smarf Money’ is a term used for

internet Banking (2) Foreign Currency

Y =i
(4) Demand Draft

(3) Credit Card

44
(28)
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W e W e — @
(1) e (g e am (3} HfEz = 4) fEare g

Which one of the following rates is niot controlled by the Reserve Bank of India?
(1) Cash Reserve Ratic ° {2} Statutory Liquidity Ratio
(3) Cess (4) Repo Rate

'ﬁﬂrﬁqw:ﬁﬁﬁﬂﬂmﬂm_ﬁmﬁﬁﬁmﬁ%&mﬁ?

(1) st vl Bt sgum (2) witifew i opum
(3) TP (4) Wr ¥

International Standards on Combatting Money Laundering and the Financing of
Terrorism and Proliferation. are framed by :

A A R qamuﬁmaﬂtm%ﬁaﬁww
mﬁaﬂamﬂﬁgﬁr"ﬁt%

() Kye . (@FrafP ... (3 1AM 4 ICOA

RuPay Card is issued by
(1) State Bank of India
(¢) National Payments Corporation of India

(3) Reserve Bank ot ladia

(4] National Securities Deposttoey  Limited.

45
(P.T.0,
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1435.

146.

(28)

w w1 s fen @ ?
(1) W R &% g
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AXIS Bank was formerly known as

(1) YES Bank . (2) UTI Bank

(3) City Union Bank (4) HDFC Bank
ufdtg d% @@ § W S

(1) @ &% ) qeBosmo &

(3) R qh & | (4) WedoTFoto §

Which one of the following is the purpose of introducing ‘ Know Your Customer’
norms by the banks?

(1} To bring more and more people under the banking net
(2) Identifying people who do not pay income tax

(3) To ensure that the money deposited in banks has come from genuine
SQUrces

(4) None of the above
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The headquarters of Export-Import Bank of India is situated at

() Lucknow  (2) Bengaluru {4} 'RiuufBaY 131 Neimike
W Frafe-amm 4% 9 e o #

(1) o= § () g § (3) 7= § @) e §

‘Legal Tender Money' refers to

(1) Cheques (2) Drafts

(3] Bill of Exchange 4) Cur:réncy Notes

Tl v gz & aigRe -

(1) 3% (2) gree @ Bl T A

Which one of the followirg 15 Ror 3 Megs
Government and or the RBJ] 7

© T onorthation adopteq by, 4y

{1) Monetary policy (4) Fiscal policy
(3) Financial hehmstoty (4 Price cortrroy
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(1) wges Hfa () T i (3) fefta wmRTH (4) 479 P

150. Which organisation issues Monetary Policy in India?

(1) Parliament (2) Reserve Bank of India
(3) State Bank of India (4) Ministry of Finance
Wﬁmﬁﬁ:ﬁﬁim&?ﬂaﬁ#-ﬁmm%?
(1) F& () Wiy e 9
(3) W Ve d® (4) for WA

* ko
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